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#include<iostream>
#include<cstdio>
#include<algorithm>
#include<cstring>
#define 11 long long
using namespace std;
const int N= ;
char s[N];

int fail|N],len|[N]|,last,n,tot,ch[N ,cnt[N|,ps[IN|/,ans[N/|;
1l hsN!,pw/[N|,hs2[N]J;
int newnode(int Xx

len[++tot]=x; tot;

void init

tot=-1;last=0;
newnode ;newnode(-1);
fail =1:s =-1;

int getfail(int pos,int x
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s/pos-len(x|/-1]!=s[pos|) x=fail|x];
X;
void add(int x,int ¢

int cur=getfail(x,last);
Ichicur]ic

int now=newnode(len|curl|+2);

failnow|=ch/getfail (x,faillcur cl;

chicur!|cl=now;
cnt/last=chicur]c]|++;ps|/last]|=x;

1l query(int 1,int r,int opt

int len=r-1+1;
Opt::

hsirl-hs[l-1]*pw/len]|;

hs2[1]-hs2/r+1]*pw|len];

int chk(int 1,int r

int mid=1+r>>1,len=r-1+1;
len&

query(l,mid, 1 )==query(mid,r,2);
query(1l,mid, 1)==query(mid+1,r,2);
int main
pwibi=1;
int i=1;i<N;i++

pw!il=pw[i-1]*31;
scanf("%s",s+1) !=EOF

n=strlen(s+1);init();
int i=1;i<=n;i++

add(i,s[il-'a');//if(i<=3) cout<<last<<endl;

hs[il=hs[i-1]*31+(s[i]l-"a'+1l);
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hs2[n+11=0;
int i=n;i;i--
hs2[il=hs2[i+1]*31+(s[i]l-'a'+1l);
int i=tot;i>1;i--

// cout<<len[i]<<" "<<cnt[i]<<" "<<ps[i]<<endl;
cnt/failli] |+=cnt[i];
chk(ps[i]-len[il+1,ps[i|-len[il+(len[i|+1)/2
ans|[len[i] |+=cnt[i];

printf("%sd",ans|[1]);ans|1]|=0;
int i=0;i<=tot;i++
len|[i/=faillil=cnt|i|=ps[i/=0,memset(ch[i],0,sizeof(chli ;
int i=2;i<=n;i++
printf(" %d",ans[i]),ans[i]/=0;

puts ;

0;

J.Just Skip The Problem
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K.Keen On Everything But Triangle
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#include<algorithm>
#include<iostream>
#include<cstdlib>
#include<cstring>
#include<cstdio>
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#include<vector>

#include<queue>

#include<cmath>

#include<map>

#include<set>

#define LL long long int

#define REP(i,n) for (int i = 1; 1 <= (n); i++)

#define Redge(u) for (int k = h[u],to; k; k = ed[k].nxt)

#define cls(s,v) memset(s,v,sizeof(s))

#define mp(a,b) make pair<int,int>(a,b)

#define cp pair<int,int>

using namespace std;

const int maxn = 100005,maxm = 10000005,INF = Ox3f3f3f3f;

inline int read

int out = 0,flag = 1; char ¢ = getchar();

cC <48 || ¢ > 57 c =="'-"') flag = 0; c = getchar();
c >= 48 & ¢ <= 57){out = (out << 1) + (out << 3) + ¢ - 48; c =

getchar();
flag ? out : -out;

int rtimaxn|,sum/maxm|,ls maxm|,rs/ maxm|,bpos,siz,n,Q;
LL almaxn],b[maxn], tot;
void add(int& u,int v,int 1,int r

U= ++siz; ls/ul = 1lsivl; rslul = rsiv]; sum/ul = sum/v];
L == r){sumful++; ;
int mid = (L + r) >> 1;

mid >= pos) add(ls|ul,ls/v],1,mid);
add(rs{ul,rs(v],mid + 1,r);

sum/u/ = sum/1ls|u + sum/rsiull;
LL ans,L,R;
int kth(int u,int v,int 1,int r,int k
1 == 1;
int mid = (L + r) >> 1;
sum[rslu - sum[rslv >= Kk kth(rsful!,rsiv],mid + 1,r,k);

kth(ls[ul,ls[v],l,mid,k - sum[rs|u + sum[rs|v :

void work
Q__
L = read - 1; R=read(); ans = -1;
LL K= 1,t,tt,ttt;
K+ 2<=R -1L
t = blkth(rt[R],rt(L],1,tot,K)];
tt = blkth(rt[R],rt[L],1,tot,K + 1)1;
ttt = b[kth(rt[R],rt(L],1,tot,K + 2)];
t < tt + ttt ans = t + tt + ttt; ;
K++;

printf("slLld\n",ans);
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int main

scanf ("%d%sd",&n,&Q)==2
siz = 0;
REP(i,n) bli] = ali]l = read();
sort(b + 1,b + 1 + n); tot = 1;

int i = 2; i <= n; i++ bli] != bltot b[++tot! = bli];

REP(i,n) alil = lower bound(b + 1,b + 1 + tot,ali - b;
REP(i,n) pos = alil,add(rt[i],rt/i - 1],1,tot);
work();

0;

L.Longest Subarray
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#include<algorithm>
#include<iostream>
#include<cstdlib>
#include<cstring>
#include<cstdio>
#include<vector>
#include<queue>
#include<cmath>
#include<map>
#include<set>

#define
#define
#define
#define
#define
#define

LL long long int
REP(i,n) for (int 1 1, 1 <=
Redge(u) for (int k h[ul, to;
cls(s,v) memset(s,v,sizeof(s))
mp(a,b) make pair<int,int>(a,b)
cp pair<int,int>

(n); i++)
k; k = ed[k].nxt)
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#define ls (u << 1)
#define rs (u << 1 | 1)
using namespace std;
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const int maxn = ,maxm = ,INF = Ox3f3f3f3f;
inline int read
int out = 0,flag = 1; char ¢ = getchar();
Cc < || ¢ = c == "'-'") flag = 0; c = getchar();
C >= & ¢ <= out = (out << + (out << + C - ; C =
getchar();

flag ? out : -out;

int n,C,K,ans,Almaxn];
vector<int> pos/|[maxn/;
int scimaxn]|,top;
int mx * maxn|,L,R;
void modify(int u,int 1,int r,int v
L = r)mx[ul =v; ;
int mid = (L + r) >> 1;
mid >= L) modify(ls,1,mid,v);
modify(rs,mid + 1,r,v);
mx/ul = max(mx[ls]|,mx[rs]);

int query(int u,int 1,int r

1l>>L&&Tr <=R mx|ul;
int mid = (L + r) >> 1;
mid >= R query(ls,1,mid);
mid < L query(rs,mid + 1,r);

max(query(ls,l,mid),query(rs,mid + 1,r));

void build(int u,int 1,int r
== r){mx[u] = 0; ;
int mid = (1 + r) >> 1;
build(ls,1,mid);
build(rs,mid + 1,r);

mx[ul = 0;
void work
build(1,1,n); ans = 0; top = 0;

int 1 =n; i; i--
int u = Ali];
pos(ul.push back(i);
sc|++top| = u;
pos|[scltop!|.size() >= K) top--;
pos|ul.size() >= K
posiul.size() > K

L = pos/ul[posiul.size - ;
modify(1,1,n,0);

L =1;

modify(1l,1,n,pos/ul[pos|ul.size - Kl);
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L =1i; R = top ? pos|[scitop!![posisc|top!].size - - :n;
L <=R
query(l,1,n) <= R) ans = max(ans,R - L + o

REP(i,C) posii|.clear();
printf("%sd\n",ans);

int main
~scanf ("%d%d%sd" ,&n, &C, &K
REP(i,n) A[i] = read();
work () ;
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